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3 6 = 18 

3 · 6 : 18 
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, - . 7 : 7 ~ 

1 . 7" = 7"0 Číslo násobíš 
deseti t.ik, ie 

k násobenému 
číslu při píše.s. 

nulu. 

!:fpoé.íte. 

3 . 20 
::, 20 
7- 20 
9 · 20 
2 · 20 
4 • 20 
6 · 20 
8 · 20 

iO · 20 

3 · 1 = 3 
3 · 1 : 3 

3 · 1 = 3 

s- ,,;xx ·e1 
1 . 100 

7 · 100 

4 . 30 5 · 40 
7 . 30 i0 . 40 
5 · 30 8 · 40 
8 . 30 6 · 40 
2 . 30 3 . 40 

10 · 30 9 . 40 
6 . 30 4 · 40 
9 . 30 7 · 40 
3 · 30 2 · 40 

5 . 1 = S 
S · 1 = SJ 

5 - 1.,:> = Su O 

6 · 100 

2 · 100 

2 · 50 4 · 60 
7. 50 2 · 60 
4 · 50 g . 60 

10 · 50 5 . 60 

9 · 50 9 · 60 
8 - 50 ) . 60 

6 · 50 7 · 60 
3 . 50 6 · 60 
5 . 50 10 · 60 

10 · 1 = 10 

10 · 10 = 100 
10 , 1l, = 1 00 

5 · 100 

9 · 100 

72 

3 · 70 6 -80 5 -9() 
7 · 70 4 · 80 8 · 90 

10 · 70 9 · 80 3 . 90 
8 - 70 7 · 80 6 -% 
6 · 70 5 . 80 9 . 90 
7 · 70 10 · 80 4 . 90 
4 · 70 2 · 80 10 · 90 
S · 70 8 · 80 2 · 90 
2 · 70 3 · 80 7 · 90 

Číslo násobíš stem tak, 
že k násobenému číslu 

při p íšeš dvě nuly. 

8 · 100 

10 · 100 
3 · 100 

4 · 100 
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